AbsolutePositioning.Width

Description

Sets or returns an i nt that represents the absolute width in twips. One twip = (1/20 pt) or (1/1440 in)

C#

public int Wdth{ get; set; }

vb.net

Public Property Wdth() As |nteger

Remarks

The width of Paragraph must be between 0.01" (15 twips) and 22" (31680 twips). The width of a table must be between 0" (0 twips) and 22"
(31680 twips). Values beyond these will be automatically adjusted.

Examples
C#
/l--- Get Wdth
int width = oAbsol utePositioning. Wdth;
/l--- Set Wdth to 3 inches
OAbsol ut ePosi tioning. Wdth = 4320;
vb.net

'--- Get Wdth
Dimw dth As |Integer = oAbsol utePositioning. Wdth

--- Set Wdth to 3 inches
0Absol ut ePosi tioning. Wdth = 4320
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